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(2) {dÚwVemó, Mw§~H$Ëd
1) 1750 rpm À`m doJmZo MmbV AgVmZm H|$ÐmngmaH$ n§n 5 kW nm°da H$mT>Vmo. Oa AmVm n§nmMm doJ 3500rpmda

~Xbbm Va n§nmZo H$mT>bobr eº$s {H$Vr Agob?
1) 5 kW 2) 20 kW 38) 25 kwW 4) 40 kW

1) A centrifugal pump draws 5 kW power when running at a speed of 1750 rpm. If now pump speed

is changed to 3500 rpm, what will be the power drawn by the pump ?

1) 5 kW 2) 20 kW 38) 25 kwW 4) 40 kW

2) R>am{dH$ H$mbmdYrV, ßb±Q> bmoS> 12000 kW Vo 26000 kW n ª̀V ~XbV AgVmo. bmoS> ’°ŠQ>aMr JUZm H$am.
1) 0.8308 2) 0.6308 3) 0.9308 4) 0.7308

2) During a certain period, the load of the plant is varying from 12000 kW to 26000 kW. Calculate

the load factor.

1) 0.8308 2) 0.6308 3) 0.9308 4) 0.7308

3) A{WªJgmR>r ^maVr` ‘mZH g§{hVm ............ Amho.
1) IS 3043 2) IS3403 3) IS3040 4) IS4030

3) Indian Standard Code of Practice for earthing is .............

1) IS 3043 2) IS3403 3) IS3040 4) IS4030

4) BbopŠQ´H$b BÝñQ>m°boeZ‘Ü ò, g{H©$Q>À`m àdoemÀ`m {R>H$mUmnmgyZ gdm©V XyaÀ`m q~Xyn ª̀V J«mhH$m§À`m AmdmamV OmñVrV
OmñV ìhmoëQ>oO S´m°n .......... n ª̀V Agmdo.
1) 3% 2) 5% 3) 7% 4) 10%

4) In electrical installation, the maximum voltage drop should be upto .......... , at the consumer

premises from the point of entry of the circuit to the farthest point.

1) 3% 2) 5% 3) 7% 4) 10%

5) Am‘}Ma diUmMm Mw§~H$s` Aj Am{U XmoZ Y«wdm§À`m ’$sëS> diUmMm Mw§~H$s` Aj `m§À`mVrb H$moZ S>rgr ‘erZ Amho -
1) 00 2) 300 3) 600 4) 900

5) The angle between magnetic axis of armature winding and the magnetic axis of field winding of

two pole d.c. machine is -

1) 00 2) 30° 3) 60° 4) 90°

6) {Xboë`m g{H©$Q>‘Ü ò 8 W ao{PñQ>a‘YyZ dmhUmam {dÚwV² àdmh ............ Amho.

1) 2.5 A 2) 1.6 A 3) 4 A 4) 16 A
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6) In the given circuit the current flowing through the 8 W resistor is .............

1) 2.5 A 2) 1.6 A 3) 4 A 4) 16 A

7) 120 ‘rQ>a x 60 ‘rQ>a AmH$mamMr ’w$Q>~m°b IoinÅ>r amÌrÀ`m IoimgmR>r 12 Q>m°dg©da g‘{W©V g‘mZ 1000 S>ãë ỳ
{Xì`m§À`m ~±H$Ûmao àH$m{eV Ho$br OmVo Or IoinÅ>rda A§XmOo EH$g‘mZ àH$me àXmZ H$aÊ`mgmR>r ‘¡XmZm^modVr {dV[aV
Ho$br OmVo. EHy$U CËg{O©V hmoUmè`m àH$memÀ`m 40% hm Ioi IoinÅ>rn ª̀V nmohmoMVmo Am{U 1000 Im/mZ2 Mr
àXrnZ XyaXe©ZÀ`m CÔoemZo Amdûm`H$ Amho Ago J¥hrV Yê$Z. àË òH$ Q>m°dadarb {Xì`m§Mr g§»`m ‘moOm. {Xì`mMr EHy$U
H$m ©̀j‘Vm 30 Im/W Amho.
1) 100 2) 200 3) 150 4) 50

7) A football pitch 120 m x 60 m is to be illuminated for night play by a similar bank of equal 1000

W lamps supported on twelve towers which are distributed around the ground to provide

approximately uniform illumination of the pitch. Assuming that 40% of total light emitted reaches

the playing pitch and that illumination of 1000 Im/mZ2 is necessary for television purpose.

Calculate number of lamps on each tower. Overall efficiency of lamp is 30 Im/W.

1) 100 2) 200 3) 150 4) 50

8) BboŠQ´moS>m`Zm{‘H$ CnH$aUm‘Ü ò, Mw§~H$s` joÌ àXmZ H$aÊ`mgmR>r ñWm`r Mw§~H$mEodOr {H$Vr H$m°Bb dmnaë`m OmVmV?
1) 1 2) 2 3) 3 4) 4

8) In an electrodynamic instrument, how many coils are used instead of permanent magnets to provide

the magnetic field ?

1) 1 2) 2 3) 3 4) 4

9) 500 Ω, 5000 Ω Am{U 50 Ω Mo VrZ ao{PñQ>Ýg 555 ìhmoëQ> ‘oZ‘Ü ò ‘m{bHo$V OmoS>bobo AmhoV. Ë`m§À`m‘YyZ
dmhUmam àdmh H$m` Amho?
1) 1A 2) 100 E‘E 3) 10 E‘E 4) 10 A

9) Three resistances of 500 Ω, 5000 Ω and 50 Ω are connected in series across a 555 Volt mains.

What is the current flowing through them ?

1) 1A 2) 100 mA 3) 10 mA 4) 10 A

10) Imbrbn¡H$s H$moUVo H$ÝìhQ>©aMo `mo½` à{V{Z{YËd Amho Oo EH$ àH$maMo EH$mpË‘H$ g{H©$Q> Amho Oo AI§S> ñdê$nmVrb
qgJbMo WoQ> ê$nm§V[aV ê$nmV ê$nm§Va H$aVo?
1) D/A 2)  A/D 3) DAC 4)  D to A

10) Which of the following is the correct representation of a converter that is a kind of integrated

circuit which converts singals from continous form into discrete form directly ?

1) D/A 2) A/D 3) DAC 4) D to A
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11) g‘H$m{bH$ ‘erZ Ooìhm bmoS> A±Jb ........ AgVo Voìhm OmñVrV OmñV eº$s {Z‘m©U H$aVo.
1) 00 2) 300 3) 900 nojm OmñV 4) 900 nojm H$‘r

11) A synchronous machine produce the maximum power when the load angle is ........

1) O0 2) 300 3) more than 900 4) less than 900

12) NFPA  Am{U  IEEE Zwgma J«mC§S> ao{PñQ>ÝgMo {e’$mag Ho$bobo ‘yë` H$m` Amho?
1) 5.0 Ω qH$dm Cƒ 2) 5.0 Ω qH$dm H$‘r 3) 25.0 Ω qH$dm H$‘r 4) 35.0 Ω qH$dm  Cƒ

12) What is the recommended value of ground resistance according to the NFPA and the IEEE ?

1) 5.0 Ω or higher 2) 5.0 Ω or lower 3) 25.0 Ω or lower 4) 35.0 Ω or higher

13) EH$m Q´mÝg’$m°‘©abm 400 W Mm ’w$b-bmoS> H$m°na bm°g AgVmo. AÜ`m© ’w$b-bmoS>da H$m°na bm°g ............ Agob.
1) 50 wW 2) 100 W 3) 400 W 4) 200 W

13) A transformer has full-load copper loss of 400 W. The copper loss at half full-load will be .............

1) 50 wW 2) 100 W 3) 400 W 4) 200W

14) 240 V nwadR>çmda 30 W Mm ao{PñQ>Ýg OmoS>bobm AgVmo. Oa R ohm Mm à{VH$ma g‘mZ nwadR>çmda 30 ohm

amoYH$mgh g‘m§Va OmoS>bm Agob, Va H$mT>bobm {dÚwV² àdmh ‘yiÀ`m {VßnQ> hmoB©b. AkmV à{VH$ma R Mo ‘yë`
............ Amho.
1) 15 Amo‘ 2) 10 Amo‘ 3) 5 Amo‘ 4) 30 Amo‘

14) A resistance of 30 W is connected across a 240 V supply. If a resistance of R ohm is connected

in parallel with a 30 ohm resistor across the same supply, the current drawn becomes triple of

original one.  The value of unknown resistance R is .............

1) 15 ohm 2) 10 ohm 3) 5 ohm 4) 30 ohm

15) {Xboë`m g{H©$Q>‘Ü ò V
3
 Mo ‘yë` emoYm.

1) V3 = V + V1 + V2 2) V3 = V - V1 - V2 3) V3 = V1 + V2 - V 4) V3 = V1 - V2 - V

15) Find the value of V3 in the given circuit.

1) V3 = V + V1 + V2 2) V3 = V - V1 - V2 3) V3 = V1 + V2 - V 4) V3 = V1 - V2 - V
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16) gmYmaUnUo, Imbrb ìhmoëQ>oOgmR>r BZS>moAa g~ñQ>oeZbm àmYmÝ` {Xbo OmVo:
1) 220 Ho$ìhr 2) 132 Ho$ìhr 3) 66 Ho$ìhr 4) 33 Ho$ìhr

16) Generally, an indoor substation is preferred for voltages up to :

1) 220 KV 2) 132 KV 3) 66 KV 4) 33 KV

17) drO ‘mnZmÀ`m XmoZ d°Q>‘rQ>a‘Ü ò, W1 Am{U W2 XmoÝhrMo arqS>J 2.5 KW. Amho. nm°da ’°ŠQ>aMr JUZm H$am.
1) 0 2)  0.5 3)  0.5 4) 1

17) In a two wattmeter of power measurement, reading of both W1 and W2 is 2.5 KW. Calculate the

power factor.

 1) 0 2) < 0.5 3) > 0.5 4) 1

18) Xwæ`‘ drO àofUmgmR>r Imbrbn¡H$s H$moUVm ìhmoëQ>oO ñVa dmnabm OmVmo?
1) 3.3 Ho$ìhr 2) 11 Ho$ìhr 3) 33 Ho$ìhr 4) 132 Ho$ìhr

18) Which of the following voltage levels is used for secondary power transmission ?

1) 3.3 kV 2) 11 kV 3) 33 kV 4) 132 kV

19) {Xboë`m g{H©$Q>‘Yrb ómoVmdê$Z hñVm§V[aV H$aVm òUmar H$‘mb eº$s ‘moOm.

 d°Q²g 

1) 9 d°Q²g 2) 12 d°Q²g 3) 18 d°Q²g 4) 24
19) Calculate the maximum power, that can be transferred from the source in the given circuit.

d°Q²g 

1) 9 watts 2) 12 watts 3) 18 watts 4) 24 watts

20) 66 kV nojm OmñV ìhmoëQ>oOgmR>r ........... Ho$~ëg dmnaë`m OmVmV.
1) ~oëQ> 2) H-àH$ma 3) Vob ^abobo 4) S - L àH$ma

20) For operating voltages beyond 66 kV ........... cables are used.

1) Belted 2) H-type 3) Oil filled 4) S - L type



JQ> ~ d JQ> H$ nyd©narjogmR>r Cn¶wº$ àíZg§J«h : gm‘mÝ¶ {dkmZ / 35

For Private Circulation Only

21) âboq‘JÀ`m S>mì`m hmVmÀ`m {Z`‘mV
n{hbo ~moQ> .......... Mr {Xem Xe©dVo
Xwgao ~moQ> ........... Mr {Xem Xe©dVo.
A§JR>m ........... Mr {Xem Xe©dVmo.
AZwH«$‘o -
1) ~b, Mw§~H$s` joÌ, àdmh 2) Mw§~H$s` joÌ, {dÚwV² àdmh, ~b
3) Mw§~H$s` joÌ, ào[aV B©E‘E’$, ~b 4) dV©‘mZ, Mw§~H$s` joÌ, ~b

21) In Fleming’s Left Hand Rule

First finger indicates direction of ..........

Second finger indicates direction of ...........

Thumb indicates direction of ...........

respectively -

1) Force, magnetic field, current 2) Magnetic field, current, force

3) Magnetic field, induced emf, force 4) Current, magnetic field, force

22) àXrnZ KQ>Zm àdmhmÀ`m {Xeogh gm‘mÝ` Vo àH$m{eV n¥ð>^mJmÛmao ~Z{dboë`m H$moZmÀ`m H$mogmBZÀ`m WoQ> à‘mUmV
AgVo. darb {dYmZ ............ er g§~§{YV Amho.
1) b°å~Q>©Mm H$mogmBZ  {Z`‘ 2) ßb±H$Mm  {Z`‘
3) ~ZgoZMm àXrnZ {Z`‘ 4) ‘°H$~oWMm àXrnZ {Z`‘

22) The illumination is directly proportional to cosine of the angle made by the normal to illuminated

surface with the direction of the incident flux. The above statement is associated with .............

1) Lambert’s cosine law 2) Planck’s law

3) Bunsen’s law of illumination 4) Macbeth’s law of illumination

23) DC EodOr AC nwadR>çmda âbmoamog|Q> {Xdm MmbdÊ`mMm ’$m`Xm ............ Amho.
1) H$m ©̀j‘VoV gwYmaUm 2) IMm©V KQ>
3) XrKm©̀ wî` 4) ñQ´mo~moñH$mo{nH$ à^mdmMo {Z‘y©bZ

23) The advantage of operating fluorescent lamp on DC supply instead of an AC is .............

1) Improvement in efficiency 2) Reduction in cost

3) Longer life 4) Elimination of stroboscopic effect

24) ...... ho nm°da Q´mÝg’$a j‘Vm VgoM [a{gpìh§J E§S> ~gMo ìhmoëQ>oO àmo’$mB©c gwYmaÊ`mgmR>r EH$ e{º$embr CnH$aU Amho.
1) e§Q> H°$no{gQ>a 2) e§Q> B§S>ŠQ>g© 3) qgH«$moZg H$ånoÝgoQ>a 4) ‘m{bH$m H°$no{gQ>a

24) .......... is a powerful device to improve the power transfer capability as well as voltage profile of

the receiving end bus.

1) Shunt capacitors 2) Shunt inductors

3) Synchronous compensators 4) Series capacitors

25) ìhmoëQ>oO {dê$nU nmVir ............ `mda Adb§~yZ AgVo.
1) g{H©$Q> à{V~mYm Am{U EHy$U hm‘m}{ZH$ {dÚwV {dH¥$Vr
2) g{H©$Q> à{V~mYm Am{U EHy$U hm‘m}{ZH$ ìhmoëQ>oO {dH¥$Vr
3) nm°da ’°ŠQ>a Am{U g{H©$Q> à{V~mYm
4) darbn¡H$s H$mhrhr Zmhr
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25) The voltage distortion level depends on  .............

1) the circuit impedances and the overall harmonic current distortion

2) the circuit impedances and the overall harmonic voltage distortion

3) power factor and the circuit impedances

4) none of the above

26) VrZ ’o$O Q´mÝg’$m°‘©aMo ñH$m°Q> H$ZoŠeZ ............ gmR>r dmnabo OmVo.
1) W«r ’o$O Vo qgJb ’o$O 2) W«r ’o$O Vo Qy> ’o$O
3) VrZ ’o$O Vo VrZ ’o$O 4) qgJb ’o$O Vo W«r ’o$O

26) Scott connection of three phase transformer is used for .............

1) Three phase to single phase 2) Three phase to two phase

3) Three phase to three phase 4) Single phase to three phase

27) n§nm§‘Ü ò gm‘mÝ`V… H$moUVr ‘moQ>a dmnabr OmVo?
1) B§S>ŠeZ ‘moQ>a 2) S>rgr ‘moQ>a 3) ñQ>ona ‘moQ>a 4) darb gd©

27) Which motor is generally used in pumps ?

1) Induction motor 2) DC motor 3) Stepper motor 4) All of the above

28) ~mînr^dH$ Vmn‘mZ dmT>dyZ H$m°§àogaMm drO dmna .............
1) dmT> 2) KQ> 3) pñWa amhVo 4) darbn¡H$s Zmhr

28) Compressor power consumption will by raising evaporator temperature .............

1) Increase 2) Decrease 3) Remains constant 4) None of the above

29) Ho$~bMr bm§~r dmT>ë`mg Ë`mMr BÝewcoeZ à{VamoYH$Vm .............
1) KQ>Vo 2) dmT>Vo 3) g‘mZ amhVo 4) darbn¡H$s H$mhrhr Zmhr

29) If length of cable increases, its insulation resistance .............

1) decreases 2) increases 3) remains same 4) none of the above

30) Ooìhm B§S>ŠeZ ‘erZ, qdS> Q>~m©BZgh B§S>ŠeZ OZaoQ>a åhUyZ H$m‘ H$aVo Voìhm Ë`mMr pñbn ............ AgVo.
1) gH$mamË‘H$ 2) eyÝ` 3) ZH$mamË‘H$ 4) AZ§V

30) When an induction machine, working in association with wind turbine as induction generator, its

slip is .............

1) Positive 2) Zero 3) Negative 4) Infinity

31) 3 ’o$O B§S>ŠeZ ‘moQ>a‘Ü ò, Oa amoQ>a bm°H$ Ho$bobo Agob, Va B§S>ŠeZ ‘moQ>aMr amoQ>a dma§dmaVm ............ Agob.
1) eyÝ` 2) ñQ>oQ>aÀ`m nwadR>m dma§dmaVonojm OmñV
3) ñQ>oQ>aÀ`m nwadR>m dma§dmaVonojm H$‘r 4) ñQ>oQ>aÀ`m nwadR>m dma§dmaVoÀ`m ~amo~arMo

31) In an 3 phase induction motor, if the rotor is locked, then the rotor frequency of induction motor

will be .............

1) zero 2) more than supply frequency of stator

3) less than supply frequency of stator 4) equal to supply frequency of stator
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32) Ooìhm ‘moQ>marVrc ¶m§{ÌH$ ^ma dmT>Vmo, Voìhm ‘mKmar {dÚwVJm‘H$mMo H$m¶ hmoVo ?
1) Vo VgoM amhVo. 2) Vo dmT>Vo
3) Vo H$‘r hmoVo 4) Ë¶mMm ‘moQ>ada H$mhrhr n[aUm‘ hmoV Zmhr

32) What happens to the back emf, when the mechanical load on the motor increases ?

1) It remains the same 2) Tt increases

3) It decreases 4) It has no effect on the motor

33) S>rgr grarOMr ‘moQ>a Zmo-bmoS>da Mmbdy Z ò, H$maU .............
1) Vo YmoH$mXm`H$nUo ‘moR>o àdmh 2) Q‰>rb ñQ>m°b H$mT>ob
3) Vo YmoH$mXm`H$ doJmZo Ymdob 4) Vo Cƒ Vmn‘mZ {Z‘m©U H$aob

33) A dc series motor should not be run at no-load, because .............

1) it will draw a dangerously large current 2) twill stall

3) it will run at a dangerously high speed 4) it will generate high temperature

34) ‘moQ>agmR>r {dÚwVKQ>mMr ŷ{‘H$m H$m¶ AgVo  ?
1) Jw§S>mir {’$adyZ {dÚwVàdmh {Z‘m©U H$aUo 2) Jw§S>mircm {dÚwVàdmh nwa{dUo
3) Mw§~H$s¶ joÌ {Z‘m©U H$aUo 4) ¶m§{ÌH$  D$Om© nwa{dUo

34) What is the role of a battery for a motor ?

1) To generate a current by rotating a loop 2) To supply current to the loop

3) To generate a magnetic field 4) To supply mechanical energy

35) ‘moQ>a‘Ü¶o ‘mKmar {dÚwVJm‘H$mMo ‘hÎd H$m¶ Amho ?
1) ¶m‘wio ‘moQ>aMm doJ dmT>Vmo 2) ¶m‘wio ‘moQ>a‘Yrc {dÚwVàdmh H$‘r hmoVmo
3) ho Cn¶wº$ ¶m§{ÌH$ H$m¶© {Z‘m©U H$aVo 4) ¶m‘wio ‘moQ>aMm nrS>Z n[a~c H$‘r hmoVmo.

35) Why is back emf important in a motor ?

1) It increases the speed of the motor 2) It reduces the current in the motor

3) It generates useful mechanical work 4) It reduces the torque of the motor

36) ‘moQ>a Mmcy Ho$ë¶mda {dÚwVàdmh gwédmVrcm Iyn ‘moR>m H$m AgVmo  ?
1) H$maU ‘mKmar {dÚwVJm‘H$ Iyn ‘O~yV AgVmo 2) H$maU ¶§m{ÌH$ ^ma Iyn OmñV AgVmo
3) H$maU doQ>moù¶mMm à{VH$ma Iyn OmñV AgVmo 4) H$maU gwédmVrcm ‘mKmar {dÚwVJm‘H$ ZgVmo.

36) Why is the current initially very large when a motor is turned on ?

1) Because the back emf is very strong

2) Because the mechanical load is very heavy

3) Because the resistance of the coils is very high

4) Because there is initially no back emf

37) Mmcy ‘moQ>ada A{V[aº$ ^ma Q>mH$ë¶mg H$m¶ hmoB©c ?
1) ‘mKmar {dÚwVJm‘H$  dmT>Vo
2) ‘moQ>ma gm‘mÝ¶nUo Mmcy amhVo
3) ‘mKmar {dÚwVJm‘H$mÀ¶m H$‘VaVo‘wio YmoH$mXm¶H$ Cƒ {dÚwV àdmh hmoD$ eH$Vmo
4) ‘moQ>ma H$m‘ H$aUo Wm§~dVo.
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37) What can happen if a heavy load is given on a running motor ?

1) The back emf increases

2) The motor continues to operate normally

3) The lack of back emf can lead to dangerously high current

4) The motor stops working

38) {dVaU ’$sS>aÀ`m {S>PmBZgmR>r ‘w»` {ZH$f Amho:
1) gm‘J«r 2) ìhmoëQ>oO‘Yrb KQ>
3) BÝgwboeZ à{VamoY 4) {dVaU àUmbr

38) The main criterion for the design of the distribution feeder is :

1) the material 2) the voltage drops

3) the insulation resistance 4) the distribution system

39) AY©dmhH$mMo {dÚwV JwUY‘© gwYmaÊ¶mgmR>r Ë¶mV AewÕVm OmoS>Ê¶mÀ¶m à{H«$¶obm ...... åhUVmV:
1) àbonZ 2) ‘moqnJ 3) ‘yë¶pñWaU 4) gwYmaUm

39) The process of adding impurities to a semiconductor to modify its electrical properties is called:

1) doping 2) moping 3) valorisation 4) improvisation

40) ŷ̂ m¡{VH$s` gd}jUmÀ`m Mw§~H$s` nÕVtMm dmna H$ê$Z ŷObmÀ`m emoYmer Imbrbn¡H$s H$moUVo `mo½`[aË`m g§~§{YV
Amho?
1) ‘moR>çm ŷOb Imoè`m§À`m Cn-n¥ð>^mJmMr aMZm {Z{l²MV H$aUo. Q>oŠQ>mo{ZH$br {dñH$irV PmoZ QóqgJ.
2) ŷObmÀ`m Imoè`m§‘Yrb bmohmMo à‘mU {Z{l²MV H$aUo. ŷn¥ð>mdarb gpÀN>Ð IS>H$ AmoiIUo
3) Xy{fV ŷObm‘wio Mw§~H$s` {dg§JVr AmoiIUo O{‘ZrVrb Amobmdm ‘°qnJ
4) Cn-n¥ð>^mJ S>mB©Šg {Z{l²MV H$aUo. MwZIS>rÀ`m Jwhm QóqgJ.

40) Which of the following is correctly related to groundwater exploration using Magnetic methods

of Geophysical survey ?

1) Determining sub-surface structures of large groundwater basins. Tracing tectonically disturbed

zones.

2) Determining iron content in groundwater basins. Identifying porous rocks in subsurface

3) Identifying magnetic anomaly due to contaminated groundwater Mapping soil moisture

4) Determining sub-surface dykes. Tracing limestone caves.

41)  UPS BÝìhQ>©abm ~m`nmg H$aÊ`mgmR>r Imbrbn¡H$s H$moUVm dmnabm OmVmo, Ooìhm Am°ZbmBZ   UPS À`m ~m~VrV
 UPS BÝìhQ>©a‘Ü ò Xmof {Z‘m©U hmoVmo?
1) DIAC 2) TRIAC 3) GTO 4)SCR

41) Which of the following is used to bypass the UPS inverter, only when a fault develops in the UPS

inverter in case of an online UPS ?

1) DIAC 2) TRIAC 3) GTO 4) SCR

42) H$moUË`m àH$maÀ`m BÝgwboQ>a‘Ü ò pñQ§́JÀ`m ñdê$nmV ‘mZ{gH$ Xwì`m§Ûmao ‘m{bHo$V OmoS>boë`m AZoH$ nmo{g©boZ {S>ñH$
AgVmV?
1) {nZ Q>mB©n BÝgwboQ>a 2) gñn|eZ Q>mB©n BÝgwboQ>a
3) ñQóZ BÝgwboQ>a 4) ñQó BÝgwboQ>a
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42) Which type of insulator consists of a number of porcelain discs connected in series by mental

links in the form of a string ?

1) Pin type insulator 2) Suspension type insulator

3) Strain insulator 4) Stray insulator

43) EAa ãbmñQ> g{H©$Q> ~«oH$agmR>r Imbrbn¡H$s H$moUVo gË` Zmhr?
1) Am°naoeZMm Cƒ doJ 2) Cƒ XoI^mb
3) H$‘r AmJrMo YmoHo$ 4) dma§dma Am°naoeZgmR>r pñWaVm

43) Which of the following is NOT true for the air blast circuit breaker?

1) High speed of operation 2) High maintenance

3) Less fire hazards 4) Stability for frequent operation

44) nmoQ>|{e`mo‘rQ>a Q´mÝgS>çyga ê$nm§V[aV H$aVo:
1) ìhmoëQ>oOMm Xm~ 2) Vmn‘mZ Vo ìhmoëQ>oO
3) Vmn‘mZ Vo à{VamoYH$ 4) {dñWmnZ Vo à{VamoY

44) Potentiometer as a transducer converts :

1) pressure to voltage 2) temperature to voltage

3) temperature to resistance 4)  displacement to resistance

45) àoaH$ AmoPo Agboë`m dV©‘mZ Q´mÝg’$m°‘©aMo n[adV©Z JwUmoÎma Amho:
1) diU JwUmoÎmamnojm H$‘r 2) diU JwUmoÎmamÀ`m g‘mZ
3) diU à‘mUmnojm OmñV 4) diU JwUmoÎmamnojm H$‘r qH$dm OmñV

45) The transformation ratio of current transformers with inductive burden is :

1) lesser than the turns ratio 2) equal to the turns ratio

3) greater than the turns ratio 4) either lesser or greater than the turn ratio

46) ~mhoarb g~ñQ>oeZgmR>r Imbrbn¡H$s H$moUVo gË` Zmhr?
1) ~m§YH$m‘ gm{hË`mMo H$‘r à‘mU 2) H$‘r àma§{^H$ IM©
3) XoI^mb IM© H$‘r Amho 4) C^maUrgmR>r bmJUmam doi H$‘r Amho

46) Which of the following is NOT true for outdoor substations ?

1) Less quantity of building materials 2) Low initial cost

3) Maintenance cost is less 4) Time required for erection is less

47) H$‘r ^mamÀ`m doir à{V{H«$`merb COm© ^anmB© XoÊ`mgmR>r Imbrbn¡H$s H$moUVm dmnabm OmVmo?
1) e§Q> AUŵ Å>r 2) ‘m{bH$m AUŵ Å>r 3) e§Q> H°$no{gQ>a 4) ‘m{bH$m H°$no{gQ>a

47) Which of the following is used to provide reactive power compensation during low load ?

1) Shunt reactor 2) Series reactor 3) Shunt capacitor 4) Series capacitor

48) Imbrbn¡H$s H$moUVo ìhoar ’$mñQ> Q´mpÝg §̀Q²g Amoìha ìhmoëQ>oO (VFTOS) {Z‘m©U H$ê$ eH$Vo?
1) gm¢X ©̀{df`H$ Amdûm`H$Vm 2) ’$sëS> Zm°Z-EH$ê$nVm
3) àXrK© Am{Hª$J 4) pñdqMJ Am°naoeZ

48) Which of the following may generate Very Fast Transients Over Voltages (VFTOS) ?

1) Aesthetic requirements 2) Field non-uniformities

3) Prolonged arcing 4) Switching operation
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49) CnH|$Ðm§‘Ü ò, gm‘mÝ` XoI^mb Am{U XwéñVrgmR>r àUmbrMm ̂ mJ {S>ñH$ZoŠQ> H$aÊ`mMr BÀN>m AgVo. ho ̀ mÛmao nyU© Ho$bo
OmVo:
1) ~g~ma 2) g{H©$Q> ~«oH$a 3) EMAmagr â ỳO 4) Am`gmoboQ>a

49) In sub-stations, it is often desired to disconnect a part of the system for general maintenance and

repairs. This is accomplished by :

1) a busbar 2) a circuit breaker 3) an HRC fuse 4) an isolator

50) gm°{bS> ñQ>oQ> [abo (SSR) gmR>r Imbrb {dYmZo gË` AmhoV H$s AgË` AmhoV Vo gm§Jm.
{dYmZ 1 : gm‘mÝ`V: 3 Vo 32 ìhmoëQ> DC, ‘moR>çm AmCQ>nwQ> ìhmoëQ>oO qH$dm 240 V, 10 amps gmaIo {dÚwV² àdmh
{Z §̀{ÌV H$aÊ`mgmR>r dmnabo OmD$ eH$Vo.
{dYmZ 2 : SSR À`m ‘w»` KQ>H$m§n¡H$s EH$ Am°ßQ>mo-Am`gmoboQ>a Amho, Á`m‘Ü ò EH$ qH$dm A{YH$ BÝ’«$m-aoS> bmBQ>-
CËgO©H$ S>m`moS>, qH$dm LED àH$me òmoV Am{U EH$m Ho$g‘Ü ò ’$moQ>mo gopÝg{Q>ìh CnH$aU AgVo.
1) XmoÝhr {dYmZo gË` AmhoV
2) XmoÝhr {dYmZo ImoQ>r AmhoV
3) {dYmZ 1 gË` Amho Am{U {dYmZ 2 AgË` Amho
4) {dYmZ 2 gË` Amho Am{U {dYmZ 1 AgË` Amho

50) State whether the following statements for solid state relays (SSR) are true or false.

Statement 1 : Typically, 3 to 32 volts DC, can be used to control a large output voltage, or

current such as 240 V, 10 amps.

Statement 2 : One of the main components of SSR is an opto-isolator, which contains one or

more infra-red light-emitting diode, or LED light source, and a photo sensitive device within a

single case.

1) Both the statements are true

2) Both the statements are false

3) Statement 1 is true and statement 2 is false

4) Statement 2 is true and statement 1 is false

51)  {d{eï> hm‘m}{ZH$ {’«$¹o$ÝgrgmR>r H$‘r-à{V~mYm ‘mJ© V`ma H$aÊ`mgmR>r Imbrbn¡H$s H$moUË`m‘Ü ò Q>çyZ Ho$boë`m Ebgr
Am{U hm`-nmg {’$ëQ>a g{H©$Q>Mr ‘m{bH$m qH$dm g‘m§Va H$ZoŠeZ g‘m{dï> Amho?
1) g{H«$` ’«§$Q> E§S> {’$ëQ>a 2) Zm°M {’$ëQ>a
3) nëg H$ÝìhQ>©a 4) Q>çyZ Ho$bobm hm‘m}{ZH$ {’$ëQ>a

51) Which of the following involves the series or parallel connection of a tuned LC and high-pass

filter circuit to form a low-impedance path for a specific harmonic frequency ?

1) Active front end filter 2) Notch filter

3) Pulse converter 4) Tuned harmonic filter

52) H$mhr Img {S>PmB©Z Ho$boë`m Q´mÝg’$m°‘©g©‘Ü ò, Jm^m Zm°Z-Mw§~H$s` nXmWmªMm Agy eH$Vmo, Aem Q´mÝg’$m°‘©g©Zm AmoiIbo
OmVo:
1) eob àH$maMo Q´mÝg’$m°‘©a 2) H$moa àH$maMo Q´mÝg’$m°‘©a
3) ~m`ñS> H$moaS> Q´mÝg’$m°‘©a 4) EAa H$m°S>© Q́mÝg’$m°‘©g©

52) In some specially designed transformers, the core may be of non-magnetic materials, Such

transformers are known as :

1) shell type transformers 2) core type transformers

3) biased cored transformers 4) air cored transformers
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53) Imbrbn¡H$s H$moUVo nm°da ñQ>oeZ‘Ü ò S>rgr ~°Q>ar {gñQ>r‘ nwadR>m dmnaV Zmhr?
1) {Z §̀ÌU Am{U {g¾qbJ H$m ©̀ 2) [abo Am{U {Q´qnJ g{H©$Q>
3) nwadR>m {dVaU àUmbr 4) AmnËH$mbrZ ‘moQ>g©

53) Which of the following does NOT use the DC battery system supply in a power station ?

1) Control and signalling work 2) Relays and t he tripping circuit

3) Supply distribution system 4) Emergency motors

54) S>rgr ~g ~ma‘Ü ò Va§JV AgVmZm, ~°Q>ar S>rgr ~g ~mabm ..... åhUyZ OmoS>bobr amhVo.
1) WoQ> nwadR>m ómoV 2) ñQ>±S>~m` nwadR>m ómoV
3) MT>CVma nwadR>m ómoV 4) gVV nwadR>m ómoV

54) Floating in DC bus bars, the battery remains connected to the DC bus bars as a .....

1) direct supply sources 2) standby supply source

3) fluctuated supply source 4) constant supply source

55) S>rgr nwadR>çmÀ`m ~°H$AngmR>r nm°da {gñQ>‘‘Ü ò H$moUË`m àH$maMr ~°Q>ar dmnabr OmV Zmhr?
1) brS>-E°{gS> ~°Q>ar (Q>çyã ẁba) 2) brS>-E°{gS> ~°Q>ar (ßb|Q>)
3) S´m` gob (n[anÌH$) 4) Ni-Cd  ~°Q>ar

55) Which type of battery is NOT used in a power system for backup of the DC supply ?

1) Lead-acid battery (tubular) 2) Lead-acid battery (plaint)

3) Dry cell (circular) 4) Ni-Cd battery

56) nm°da ñQ>oeZMo Imbrbn¡H$s H$moUVo ghm`H$ CnH$aU BZnwQ> nm°da ì`Ë`` {dê$Õ Ëd[aV dmnabo OmVo?
1) MmO© H§$Q´moba 2) H$ÝìhQ>©a 3) BÝìhQ>©a 4) UPS

56) Which of the following auxiliary equipment of a power station is used as immediate against the

input power interruptions ?

1) Charge controller 2) Converter 3) Inverter 4) UPS

57) Imbrbn¡H$s H$moUVo CnH$aU pñWa Egr ìhmoëQ>oO‘Ü ò ìho[aE~b Egr AmCQ>nwQ> ìhmoëQ>oO g‘mZ dma§dmaVm åhUyZ
AmoiIVo?
1) BÝìhQ>©a 2) ho{bH$m°ßQ>a
3) AC  ìhmoëQ>oO H§$Q´moba 4) Cuc;pcpmverter

57) Which of the following devices convents fixed AC voltage intto variable AC output voltage as the

same frequency ?

1) Inverter 2) Chopper

3) AC voltage controller 4) Cuc;pcpmverter

58) n¥ÏdrMr MQ>B© O{‘ZrMr j‘Vm ‘`m©{XV R>odÊ`mg ‘XV H$aVo Am{U ......... nmgyZ g§ajU XoVo.
1) gXmof àdmh 2) CnH$aUmÛmao CËnm{XV CîUVm
3) ’$m`a OPmS²g© 4) {gñQ>‘Mo Hy$qbJ

58) An earth mat helps in limiting the ground potential and offers protection against the .......... .

1) faulty current 2) heat produced by equipment

3) fire jazards 4) cooling of the system
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59) nm°da ñQ>oeZ‘Ü ò n¥ÏdrÀ`m MQ>`m dmnê$Z Imbrbn¡H$s H$moUVo H$m‘ Ho$bo OmV Zmhr?
1) AmoìhahoS> bmBQ>qZJ ‘mñQ²g‘YyZ AmoìhaìhmoëQ>oO {S>ñMmO© H$aUo
2) VQ>ñW A{WªJ àXmZ H$aUo
3) A{WªJ pñdMMm dmna H$ê$Z ’o$O Am{U J«mC§S> Xaå`mZ MmO© {S>ñMmO© H$aÊ`mgmR>r ‘mJ© ì`dñWm H$aUo
4) à{V{H«$`mË‘H$ eº$sgmR>r ‘mJ© àXmZ H$ê$Z ìhmoëQ>oO nmVir {Z §̀{ÌV H$aUo

59) Which of the following is NOT done by using earth mats in a power station ?

1) Discharging the overvoltage from overhead lightning masts

2) Providing neutral earthing

3) Arranging a path to discharge the charge between phase and ground by using earthing switches

4) Controlling the voltage level by providing a path for reactive power

60) AëQ>aZoqQ>J H$a§Q> (AC)  ñQ>oeZ godo‘Ü ò Imbrbn¡H$s H$moUVm {dMma Ho$bm OmVmo?
1) EH$ qH$dm A{YH$ ~°Q>ar ~±H$m
2) {S>Pob OZaoQ>aÛmao AmnËH$mbrZ ~°H$An àXmZ Ho$bm OmVmo
3) CÎmoOH$ joÌmMr M‘H$
4) ñZohZ àUmbr

60) Which of the following is considered in an alternating current (AC) station service ?

1) One or more battery banks

2) Emergency backup provided by a diesel generator

3) Flashing of the exciter field

4) Lubrication systems

61) EMìhrS>rgr Q´mÝg{‘eZ bmBZMo Imbrbn¡H$s H$moUVo KQ>H$ HVDC ê$nm§VaU Am{U AC-to-DC ê$nm§VaUmgmR>r
dmnabo OmVmV?
1) JwiJwirV AUŵ Å>r 2) ~ma‘mo{ZH$ {’$ëQ>a 3) H$ZdQ>©a 4) DC bmB©Ýg

61) Which of the following components of an HVDC transmission line is used for AC-to-DC

conversion and DC-to-AC conversion ?

1) Smooth reactor 2) Barmonic filter 3) Converter 4) DC lines

62) HVDC  bmB©ZÀ`m VwbZoV HVAC bmB©Z~Ôb Imbrbn¡H$s H$moUVo {dYmZ MwH$sMo Amho?
1) ho bm§~ A§Vamda ‘moR>çm à‘mUmV nm°da Q´mÝg{‘eZgmR>r dmnabo OmVo
2) Ë`mÀ`m dmnam‘wio H$‘r Q´mÝg{‘eZ ZwH$gmZ hmoVo.
3) ho ghOnUo ìhmoëQ>oO nmVir dmT>dVo.
4) Ë`mÀ`m dmnam‘Ü ò H$‘r ìhmoëQ>oO MT>CVmam§Mm g‘mdoe hmoVmo.

62) Which of the following statements is INCORRECT about an HVDC line compared to an HVAC

line ?

1) It is used for bulk power transmission over long distances

2) Its use incurs low transmission losses.

3) It easily increases the voltage level.

4) Its use involves less voltage fluctuations.
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63) ‘moR>çm {dÚwVàdmhmÀ`m ì`Ë``mXaå`mZ, g{H©$Q> ~«oH$a ‘moR>çm Am{gªJ Agob.........
1) g{H©$Q> ~«oH$aÀ`m Q>{‘©ZëgÀ`m Xaå`mZ 2) g{H©$Q> ~«oH$aÀ`m ~mhoa
3) pñdqMJ g§nH$mªXaå`mZ 4) g{H©$Q> ~«oH$aÀ`m gm‘J«r‘Ü ò

63) During the interruption of large current, a circuit breaker would be large arcing .........

1) between the terminals of the circuit breaker 2) outside of the circuit breaker

3) between the switching contacts 4) in the material of the circuit breaker

64) Imbrbn¡H$s H$moUË`m àH$maMo g{H©$Q> ~«oH$a godm åhUyZ dJuH¥$V Ho$bo Amho?
1) AmCQ>S>moAa g{H©$Q> ~«oH$a 2) pñà§J-Am°naoQ>oS> g{H©$Q> ~«oH$a
3) dm`dr` g{H©$Q> ~«oH$a 4) Cƒ-ìhmoëQ>oO g{H©$Q> ~«oH$a

64) Which of the following types of circuit breaker is categorised as a service ?

1) Outdoor circuit breaker 2) Spring-operated circuit breaker

3) Pneumatic circuit breaker 4) High-voltage circuit breaker

65) Am°Bb g{H©$Q> ~«oH$a‘Yrb H$moUVm dm ỳ Hy$qbJ B’o$ŠQ> {Z‘m©U H$aVmo?
1) {‘WoZ 2) hm`S´moOZ 3) CO2 4) Zm`Q´moOZ

65) Which gas in an oil circuit breaker produce the cooling effect ?

1) Methane 2) Hydrogen 3) CO2 4) Nitrogen

66) Imbrbn¡H$s H$moUVo ‘mnX§S> J{bÀN> BboŠQ´mo‘°¾o{Q>H$ H$moa‘Ü ò V`ma hmoUmè`m àdmhmÀ`m ì`ñV à‘mUmV Amho?
1) diUm§Mr g§»`m 2) dV©‘mZ 3) Jmä`mMo joÌ’$i 4) A{ZÀN>m

66) Which of the following parameters is inversely proportional to the flux produced in a soiled

electromagnetic core ?

1) Number of turns 2) Current 3) Area of the core 4) Reluctance

67) Mw§~H$s` àdmhmgmR>r XmoZ qH$dm XmoZnojm OmñV ‘mJ© Agboë`m Mw§~H$s` g{H©$Q>bm ........ åhUVmV.
1) WoQ> Mw§~H$s` g{H©$Q> 2) AàË`j Mw§~H$s` g{H©$Q>
3) g‘m§Va Mw§~H$s` g{H©$Q> 4) ‘m{bH$m Mw§~H$s` g{H©$Q>

67) A magnetic circuit with two or more than two paths for the magnetic flux is called .........

1) direct magnetic circuit 2) indirect magnetic circuit

3) parallel magnetic circuit 4) series magnetic circuit

68) Q́mÝg’$m°‘©a‘Yrb EMF 'E1'' hm ......... 900 Mm àdmh Amho.
1) AJ«JÊ` 2) ‘mJo nS>Uo 3) OmoS>bobo 4) OmoS>bobo Zgbobo

68) Induced EMF 'E
1
' in a transformer is .......... flux by 900.

1) leading 2) lagging 3) connected 4) non-connected

69) CÎmo{OV H$a§Q> XmoZ KQ>H$m§Zr ~Zbobm AgVmo, Á`mn¡H$s bmJy ìhmoëQ>oO 'V' Agboë`m Q>ßß`mVrb EH$m KQ>H$mbm .... åhUVmV.
1) dV©‘mZ ZwH$gmZ KQ>H$ 2) H$moa ZwH$gmZ KQ>H$
3) ìhmoëQ>oO S´m°n bm°g 4) Mw§~H$s` àdmh

69) Excitation current is made up of two components, of which the one in phase with the applied

voltage 'V' is called .............

1) current loss components 2) core loss component

3) voltage drop loss 4) magnetising current
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70) Q´mÝg’$m°‘©aÀ`m diU à{VamoY MmMUrgmR>r Imbrbn¡H$s H$moUVr nÕV dmnabr OmVo?
1) Q´mÝg’$m°‘©a nÕVrMr S>m`bopŠQ´H$ MmMUr 2) eyÝ` AZwH«$‘ à{V~mYm nÕV
3) Ho$pëdZ {~«O nÕV 4) Q´mÝg’$m°‘©a nÕVrMr doŠQ>a JQ> MmMUr

70) Which of the following methods is used for the winding resistance test of a transformer ?

1) Dielectric test of transformer method 2) Zero sequence impedance method

3) Kelvin bridge method 4) Vector group test of transformer method

71) Imbrbn¡H$s H$moUVr MmMUr hm` ìhmoëQ>oO diU ìhmoëQ>oO Am{U H$‘r ìhmoëQ>oO diU ìhmoëQ>oO ‘moOyZ KoVbr OmVo?
1) Üd{ZH$ AmdmO nmVirMo ‘mnZ  2) diU à{VamoY MmMUr
3) Q´mÝg’$m°‘}eZ aoemo Q>oñQ> 4) Q´mÝg’$m°‘©aMr S>m`bopŠQ´H$ Q>oñQ>

71) Which of the following tests is conducted by measuring the high voltage winding voltage and the

low voltage winding voltage ?

1) Measurement of acoustic noise level 2) Winding resistance test

3) Transformation ratio test 4) Dielectric test of transformer

72) ao{PpñQ>ìh bmoS>gmR>r, ìhmoëQ>oO ao½ ẁboeZMr Q> o̧$dmar ...... À`m no3  Q> o̧$ EdT>r Amho.
1) à{V{H«$`m drop × sinφ

2
2) à{VH$ma drop × sinφ

2

3) à{VH$ma S´m°n 4) à{V{H«$`m S´m°n
72) For resistive load, the percentage of voltage regulation is equal to the percentage of .......

1) reactance drop × sinφ2 2) resistance drop × sinφ2

3) resistance drop 4) reactance drop

73) Ooìhm Q´mÝg’$m°‘©a‘Yrb Vm§ã`mMo ZwH$gmZ H$moaÀ`m ZwH$gmZmgmaIo AgVo Voìhm Imbrbn¡H$s H$moUVo Am°pßQ>Zmo ~amo~a
AgVo?
1) {H$‘mZ H$m ©̀j‘Vm 2) H$‘mb H$m ©̀j‘Vm
3) {Xdg^a H$m ©̀j‘Vm 4) H$‘mb COm© H$m ©̀j‘Vm

73) Which of the following optinos is correct when copper losses are equal to core losses in a

transformer ?

1) Minimum efficiency 2) Maximum efficiency

3) All-day efficiency 4) Maximum power efficiency

74) Imbrbn¡H$s H$moUVm ^mJ qgH«$moZg ‘moQ>g©‘Ü ò dmnabm OmV Zmhr?
1) AC nwadR>çmgh ’$sëS> dmB§qS>J 2) AC nwadR>çmgh Am‘}Ma dmB§qS>J
3) goë’$-ñQ>m{Qª>JgmR>r S°>pån§J dmB§qS>J 4) {dÚwV Mw§~H$s` joÌmgmR>r nmob

74) Which of the following parts is NOT used in synchronous motors ?

1) Field winding with AC supply 2) Armature winding with AC supply

3) Damping winding for self-starting 4) Pole for the electric magnetic field

75) qgH«$moZg ‘moQ>aMo d¡{eï²>` åhUyZ Imbrbn¡H$s H$moUVm n`m©̀  MwH$sMm Amho?
1) Vo Zmo-bmoS> Vo nyU© bmoS> n ª̀V pñWa JVr amIVo
2) qgH«$moZg ‘moQ>aMr JVr bmoS>da Adb§~yZ AgVo
3) ho ñdm^m{dH$nUo ñdV: Mr gwédmV Zmhr
4) ho KQ>H$m§À`m {dñV¥V loUr A§VJ©V Mmbdbo OmVo - XmoÝhr ‘mJo nS>Uo Am{U AJ«JÊ`
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75) Which of the following options in INCORRECT as a feature of synchronous motor ?

1) It maintains a constant speed from no-load to full load

2) The speed of a synchronous motor is dependent on load

3) It is not inherently self-starting

4) It is operated under a wide range of factors-both lagging and leading

76) qgJb-’o$O B§S>ŠeZ ‘moQ>aMm ^mJ åhUyZ Imbrbn¡H$s H$moUVm n`m©̀  MwH$sMm Amho?
1) pñbn [a¨J 2) H°$no{gQ>a 3) Am‘}Ma diU 4) ~oA[a¨J

76) Which of the following options is INCORRECT as a part of single-phase induction motor ?

1) Slip rings 2) Capacitor 3) Armature winding 4) Bearing

77) qgJb-’o$O B§S>ŠeZ ‘moQ>g© 900 À`m AmCQ>-Am°’$-’o$O H$a§Q>Ûmao Mmb{dboë`m ghm`H$ ñQ>mQ>©a dmB§qS>J{edm`
............. H$aV ZmhrV.
1) ñd-àma§̂ 2) àma§̂ 3) H$‘r Q>m°H©$ Amho 4) H$‘r àdmh Amho

77) Single-phase induction motors do not ............. without an auxiliary startor winding driven by an

out-of-phase current of near 900.

1) self-start 2) start 3) have low torque 4) have low current

78) Oa DC ‘moQ>a ñQ>mQ>©a{edm` gwê$ Pmbr Va DC ‘moQ>aMm H$moUVm ^mJ Iam~ hmoD$ eH$V Zmhr?
1) ~«e  2) H$å ẁQ>oQ>a 3) `moH$ 4) qdqS>½O

78) If a DC motor is started without starter, which part of the DC motor CANNOT get damaged ?

1) Brushes 2) Commutator 3) Yoke 4) Windings

79) g‘mZwnm{VH$ pñWam§H$mZwgma ßboQ²gdarb MmO©er g§~§{YV XmoZ ßboQ²g‘Yrb g§̂ mì` ’$aH$. hm pñWam§H$ ........ åhUyZ
AmoiIbm OmVmo.
1) H§$S>ŠQ>a 2) S>m`bopŠQ´H$ pñWam§H$ 3) H°$n°{gQ>Ýg 4) H§$S>ŠQ>Ýg

79) The potential difference between two plates in related to the charge on the plates by aproportionality

constant. This constant is known as .........

1) conductor 2) dielectric constant 3) capacitance 4) conductance

80) BboŠQ´moñQ>°{Q>H$ CnH$aUm§~Ôb Imbrbn¡H$s H$moUVo {dYmZ ~amo~a Amho?
1) Vo ’$º$ Egr ìhmoëQ>oOMo à‘mU ‘moOVmV. 2) {djo{nV Q>m°H©$ ìhmoëQ>oOÀ`m WoQ> à‘mUmV Amho
3) drO dmna IynM H$‘r Amho. 4) ñHo$b EH$g‘mZ Amho

80) Which of the following statements is correct about electrostatic instruments ?

1) They measure only the AC quantity of voltage.

2) Deflecting torque is directly proportional to voltage

3) The power consumption is quite low.

4) The scale is uniform

81) Ooìhm {dÚwV² àdmh dmT>Vmo Voìhm H§$S>ŠQ>a‘Ü ò g§̂ mì` KQ> ......
1) dmT>Vo 2) KQ>Vo 3) H$moUVmhr ~Xb Zmhr 4) darbn¡H$s H$mhrhr Zmhr

81) When the current increases, potential drop across the conductor ......

1) Increases 2) Decreases 3) No change 4) None of the above



JQ> ~ d JQ> H$ nyd©narjogmR>r Cn¶wº$ àíZg§J«h : gm‘mÝ¶ {dkmZ / 46

For Private Circulation Only

82) Ooìhm {dÚwV àdmh {dÚwV ~ë~À`m Q>§JñQ>Z {’$bm‘|Q>‘YyZ OmVmo Voìhm {’$bm‘|Q> àH$me CËg{O©V H$aVmo. ho {dÚwV
àdmhmÀ`m ......... n[aUm‘m‘wio Amho.
1) `m§{ÌH$ 2) Mw§~H$s` 3) amgm`{ZH$ 4) Ja‘

82) When an electric current passes through a tungsten filament of an electric bulb, the filament

emits light. This is due to the ...... effect of electric current.

1) Mechanical 2) Magnetic 3) Chemical 4) Heating

83) {dÚwVYmaoZo {dÚwVamoYH$mV IM© Ho$bobr eº$s H$emÀ¶m à‘mUmV AgVo ?
1) {dÚwVamoYH$mVrb {dÚwV YmaoMm dJ© 2) {dÚwVamoYH$mVrb {dÚwV YmaoMm KZ
3) {dÚwVamoYH$mVrb {dÚwV YmaoMo dJ©‘yi 4) Ë¶mVrb {d^dm§VamMm dJ©

83) The power expended by a current in a resistance is proportional to

1) Square of the current in the resistance 2) Cube of the current in the resistance

3) Square root of the current in the resistance 4) Square of the potential difference across it

84) Imbrbn¡H$s H$moUVm àH$ma ~moJÚm§‘Ü ò dmnabm OmV Zmhr?
1) OiË`m VobmMm dmna H$ê$Z {Xdo Am{U H§$Xrb 2) Jmo~a J°gMr àH$me`moOZm
3) H$moigm dm ỳ àH$me 4) E{g{Q>brZ bmBqQ>J

84) Which of the following is not the type of lighting used in tunnels ?

1) Lamps and lanterns using burning oil 2) Gobar gas lighting

3) Coal gas lighting 4) Acetylene lighting

85) ãbmpñQ>§J Am°naoeZ‘Ü ò dmnaë`m OmUmè¶m BbopŠQ´H$ {S>Q>moZoQ>g©À`m g§X^m©V Imbrb {dYmZo {dMmamV ¿`m:
a) Vo gwa{jV Am{U {Z{íMV AmhoV.
b) Vo Amdí`H$ {db§~mZo {N>Ð nmS>Ê`mMr nadmZJr XoV ZmhrV.
c) Vo ObamoYH$ ZmhrV.
d) ãbmpñQ>§J â ỳOÀ`m VwbZoV B{¾eZMr à{H«$`m {ZVi Amho.
darbn¡H$s H$moUVo {dYmZ MwH$sMo Amho?
1) ’$º$ (a) Am{U  (b) 2) ’$º$  (b) Am{U  (c)

3) ’$º$ (a), (b)  Am{U (c) 4) ’$º$ (a), (c)  Am{U (d)

85) Consider the following statements with respect to electric detonators used in blasting operations:

a) They are safe and certain.

b) They do not permit successive firing of holes with required delay.

c) They are not waterproof.

d) The process of ignition is smoother as compared to blasting fuse.

Which of the above statements islare incorrect ?

1) Only (a) and (b) 2) Only (b) and (c)

3) Only (a), (b) and (c) 4) Only (a), (c) and (d)

86) Mw§~H$s` ãbmo AmCQ> H$m°Bb gm‘mÝ`V… ............ ‘Ü ò dmnabr OmVmV.
1) EAa-~«oH$ g{H©$Q> ~«oH$a 2) ìh°Š ỳ‘ g{H©$Q> ~«oH$a
3) Am°Bb g{H©$Q> ~«oH$g© 4) SF g{H©$Q> ~«oH$g©

86)  Magnetic blow out coils are generally used in .............

1) Air-break circuit breakers 2) Vacuum circuit breakers

3) Oil circuit breakers 4) SF circuit breakers
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87) ’$sS>aÀ`m dV©‘mZ loUr~Õ g§ajUmgmR>r H$moUVm [abo gdm©V `mo½` Amho?
1) ì`ñV {ZpíMV {H$‘mZ doi (IDMT) [abo
2) hm`-ñnrS> hm`-goQ> AmoìhaH$a§Q> [abo
3) A§Va [abo
4) darbn¡H$s H$mhrhr Zmhr

87) Which type of relay is most suitable for current graded protection of feeder ?

1) Inverse Definite Minimum Time (IDMT) relay

2) High-speed high-set overcurrent relays

3) Distance relays

4) None of the above

88) Mho àH$maMm A§Va [abo gmYmaUnUo ............ À`m g§ajUmgmR>r dmnabm OmVmo.
1) H$‘r bm§~rÀ`m Q´mÝg{‘eZ bmB©Ýg 2) Iyn H$‘r bm§~rÀ`m Q´mÝg{‘eZ bmB©Ýg
3) ‘Ü`‘ bm§~rÀ`m Q´mÝg{‘eZ bmB©Ýg 4) bm§~ bm§~rÀ`m Q´mÝg{‘eZ bmB©Ýg

88) Mho type distance relay is normally used for the protection of .............

1) Short length transmission lines 2) Very short length transmission lines

3) Medium length transmission lines 4) Long length transmission lines

89) AëQ>aZoQ>aÀ`m Am‘}Ma qdqS>Jda B§Q>aQ>Z© ’$m°ëQ>gmR>r àmYmÝ` {Xbobo g§ajU Amho
1) AZwX¡Ü ©̀ gmYo {d ôXH$ g§ajU
2) AZwX¡Ü ©̀ Q> o̧$dmar {^Þ g§ajU
3) Amoìha-H$a§Q> g§ajU
4) AëQ>aZoQ>aÀ`m pñßbQ> dmB§qS>J {S>PmBZMm dmna H$ê$Z Q´mÝgìhg© {S>’$a|{e`b g§ajU

89) The preferred protection for interturn faults on armature winding of alternator is

1) Longitudinal simple differential protection

2) Longitudinal percentage differential protection

3) Over-current protection

4) Transverse differential protection using split winding design of alternator

90) gmYmaUnUo ............ gmR>r OmñVrV OmñV Xmof Zm|Xdbo OmVmV.
1) pñdM {JAg© 2) ŷ{‘JV Ho$~ëg
3) nm°da Q´mÝg’$m°‘©a 4) Q´mÝg{‘eZ bmB©Ýg

90)  Maximum number of faults are generally reported for .............

1) Switch gears 2) Underground cables

3) Power transformers 4) Transmission lines

91) KCL Am{U KVL ............ gmR>r bmJy AmhoV.
1) ’$º$ DC g{H©$Q²g 2) H$moUVrhr g{H©$Q²g Ë`mMr O{Q>bVm {dMmamV Z KoVm
3) gmYo DC g{H©$Q²g 4) ’$º$ AC g{H©$Q²g

91) KCL and KVL are applicable for .............

1) DC circuits only 2) Any circuits irrespective of its complexity

3) Simple DC circuits only 4) AC circuits only
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92) a, c g{H©$Q>Mo ............... ho Ë`mÀ`m à{V~mYmMo nañna Amho.
1) àdoe 2) AmMaU 3) A{ZÀN>m 4) H$m ©̀j‘Vm

92) ............... of an a, c circuit is the reciprocal of its impedance.

1) Admittance 2) Conductance 3) Reluctance 4) Permeance

93) pñWa pñWVrVrb H§${S>Q>moBZ A§VJ©V, H°$no{gQ>a EH$/A åhUyZ H$m‘ H$aVmo.......... Am{U B§S>ŠQ>a EH$/A .................
1) AmonZ g{H©$Q>, em°Q>© g{H©$Q> 2) em°Q>© g{H©$Q>, AmonZ g{H©$Q>
3) em°Q>© g{H©$Q>, em°Q>© g{H©$Q> 4) AmonZ g{H©$Q>, AmonZ g{H©$Q>

93) Under steady state conditoin, capacitor acts as an/a .......... and inductor as an/a ................

1) Open circuit, short-circut 2) Short-circuit, open circuit

3) Short-circuit, short-circuit 4) Open-circuit, open circuit

94) Q>m°da ’w$qQ>J ao{PñQ>Ýg ............ Zo H$‘r Ho$bm OmD$ eH$Vmo.
1) Q>m°daOdi am°S> MmbdUo Am{U Ë`m§Zm Q>m°da ~oger OmoS>Uo
2) H$mC§Q>anmoB©O dm`a O{‘ZrV JmS>Uo Am{U Ë`m§Zm Q>m°da ~oger OmoS>Uo
3) XmoÝhr (1) Am{U (2)
4) darbn¡H$s H$mhrhr Zmhr

94) The tower footing resistance may be reduced by .............

1) driving rods near the tower and connecting them to the tower base

2) burying counterpoise wires in the ground and connecting them to the tower base

3) both (1) and (2)

4) none of the above

95) gO© A°aoñQ>a ghgm g~ñQ>oeZ Xaå`mZ OmoS>bobo AgVo.
1) XmoZ Q>ßno 2) ’o$O Am{U J«mD$§S> 3) ’o$O Am{U Ý ỳQ´b 4) darbn¡H$s Zmhr

95) Surge arrestor is normally connected between at the substation.

1) Two phases 2) Phase and ground 3) Phase and neutral 4) None of the above

96) gm‘mÝ`V… ......... nXmWm©Mm dmna {MbIV åhUyZ Ho$bm OmVmo.
1) Mw§~H$s` 2) Zm°Z-Mw§~H$s`
3) XmoÝhr (1) Am{U (2) 4) darbn¡H$s Zmhr

96) Normally ......... material is used as armouring.

1) Magnetic 2) Non-magnetic

3) Both (1) and (2) 4) None of the above

97) g‘mZ ìhmoëQ>oO nmVirgmR>r, Ooìhm ~mhoarb g~ñQ>oeZMr BZS>moAa g~ñQ>oeZer VwbZm Ho$br OmVo, Voìhm qH$‘V
........... Agob Am{U Xmof {ZXmZ ......... Agob.
1) H$‘r, gmono 2) H$‘r, AdKS> 3) Cƒ, gmono 4) Cƒ, H$R>rU

97) For same voltage level, when outdoor substation is compared with indoor substation, the cost

will be ........... and fault diagnosis will be .........

1) low, easier 2) low, difficult 3) high, easier 4) high, difficult
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98) {Od§V Vmam AgVmZm dmVmdaUmV hmoUmar AmJ ............. Ûmao {dP{dbr OmD$ eH$Vo.
1) S´m` nmdS>a Ep³ñQ>§p½dea 2) nmUr {dPdUmao
3) gmoS>m A°{gS> EpŠñQ>§p½dea 4) ’$mo‘ EpŠñQ>§p½dea

98) The fire taking place in the environment when live wires exists can be extinguished by .............

1) Dry powder extinguisher 2) Water extinguisher

3) Soda acid extinguisher 4) Foam extinguisher

99) ñQ>°{Q>H$ arcoÀ`m AmD$Q>nwQ> ñQ>oO‘Ü ò dmnabobm KQ>H$ ............ Amho.
1) Am°naoeZb A°åßbr’$m`a 2) VwbZmH$Vm©
3) H°$no{gQ>a 4) Wm`[añQ>a

99) The component used in the output stage of static relay is .............

1) Operational amplifier 2) Comparator

3) Capacitor 4) Thyristor

100) bmo nmg ~«m°S>~±S> {’$ëQ>a ho ãbm°H$ H$aÊ`mgmR>r EH$ AmXe© A°pßbHo$eZ Amho.
1) qgJb hm‘m}{ZH$ àdmh 2) ì`mnH$ hm‘m}{ZH$ {’«$¹o$Ýgr
3) eyÝ` AZwH«$‘ àdmh 4) darbn¡H$s H$mhrhr Zmhr

100) A low pass broadband filter is an ideal application to block .............

1) single harmonic current 2) widespread harmonic frequencies

3) zero sequence current 4) none of the above

101) AmdoJnyU© j{UH$ Mo gdm©V gm‘mÝ` H$maU ............ Amho.
1) AZbmoS> Ho$bobr Q´mÝg{‘eZ bmBZ pñdM H$aUo 2) H°$no{gQ>a ~±H$ pñdM H$aUo
3) e§Q> AUŵ Å>r ~XbUo 4) bmBQ>qZJ

101) The most common cause of impulsive transient is .............

1) Switching a unloaded transmission line 2) Switching a capacitor bank

3) Switching a shunt reactor 4) Lightning

102) Imbrbn¡H$s H$moUË`m g{H©$Q> ~«oH$a‘Ü ò ao{PñQ>Ýg pñdqMJ dmnabo OmVo?
1) EAa-ãbmñQ> g{H©$Q> ~«oH$a 2) {H$‘mZ Vob g{H©$Q> ~«oH$a
3) ìh°Š ỳ‘ g{H©$Q> ~«oH$a 4) SF g{H©$Q> ~«oH$a

102) Resistance switching is employed in which of the following circuit breaker ?

1) Air-blast circuit breaker 2) Minimum oil circuit breaker

3) Vacuum circuit breaker 4) SF circuit breaker

103) boW ‘erZ‘Ü ò H$moUË`m àH$maMr S>rgr ‘moQ>a dmnabr OmVo?
1) S>rgr ‘m{bH$m ‘moQ>a 2) S>rgr H§$nmC§S> ‘moQ>a
3) S>rgr e§Q> ‘moQ>a 4) S>rgr {S>’$a|{e`b H§$nmC§S> ‘moQ>a

103) Which type of dc motor is used in lathe machine ?

1) dc series motor 2) dc compound motor

3) dc shunt motor 4) dc differential compound motor
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104) S>rgr OZaoQ>a‘Ü ò H$å ẁQ>oQ>a ............. åhUyZ H$m‘ H$aVmo.
1) ‘oH°${ZH$b BÝìhQ>©a 2) qgH«$moZg H§$S>oÝga
3) ‘oH°${ZH$b aopŠQ>’$m`a 4) `mn¡H$s Zmhr

104) In a DC generator, commutator serve as a .............

1) Mechanical inverter 2) Synchronous condenser

3) Mechanical rectifier 4) None of these

105) S>rgr ‘moQ>a Ooìhm nwadR>çmer WoQ> OmoS>br OmVo Voìhm Iyn OS> {dÚwV àdmh òVmo H$maU .............
1) gwadmVrbm ‘mJrb EMF eyÝ` Amho
2) gwadmVrbm ~°H$ EMF H$‘mb Amho
3) ‘mJrb EMF nwadR>m ìhmoëQ>oObm {damoY H$aV Amho
4) gwê$ H$aVmZm Amdí`H$ Q>m°H©$ OmñV AgVmo

105) A dc motor when connected directly to the supply would draw a very heavy current because .............

1) the back EMF at starting is zero

2) the back EMF at starting is maximum

3) the back EMF is opposing the supply voltage

4) torque required at starting is high

106) B§S>ŠeZ ‘moQ>aÀ`m g‘Vwë` g{H©$Q>Mm g§X ©̂ XoVmZm Imbrbn¡H$s H$moUVr {dYmZo ~amo~a AmhoV?
i) Mw§~H$s` A{^{H«$`m nwadR>m H$a§Q>da Adb§~yZ AgVo.
ii) Mw§~H$s` A{^{H«$`m dm ẁ A§VamÀ`m àdmhmda Adb§~yZ AgVo.
iii) ‘w»` ZwH$gmZ BZnwQ> ìhmoëQ>oO Am{U dma§dmaVm `mda Adb§~yZ AgVo.
iv) amoQ>aMm à{VH$ma doJmda Adb§~yZ AgVmo.
n¶m©¶r CÎmao …
1) ii Am{U iii ~amo~a AmhoV 2) i, iii, iv ~amo~a AmhoV
3) i, ii, iii, iv ~amo~a AmhoV 4) i, ii, iv ~amo~a AmhoV

106) Referring to equivalent circuit of an induction motor which of the following statements are

correct?

i) Magnetizing reactance is dependent on supply current.

ii) Magnetizing reactance is dependent on air gap flux.

iii) Core loss is dependent on the input voltage and frequency.

iv) Rotor resistance is dependent on the speed.

Answer Options :

1) ii and iii are correct 2) i, iii, iv are correct

3) i, ii, iii, iv are correct 4) i, ii, iv are correct

107) ìhmoëQ>oO A°påßb’$m`a‘Ü ò, bmoS> ao{PñQ>Ýg ............ Agmdm.
1) eŠ` {VVHo$ ‘moR>o 2) eŠ` {VVHo$ bhmZ
3) AmCQ>nwQ> à{V~mYm g‘mZ 4) BZnwQ> à{V~mYm g‘mZ

107) In voltage amplifier, the load resistance should be  .............

1) As large as possible 2) As small as possible

3) Equal to output impedance 4) Equal to input impedance
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108) nëg-ñQóMa .......... ‘ëQ>rìhm`~«oQ>a gmaImM AgVmo.
1) ApñWa 2) {~ñQ>o~b 3) ‘moZmoñQ>o~b 4) darbn¡H$s H$mhrhr Zmhr

108) A pulse-stretcher is same as .......... multivibrator.

1) Astable 2) Bistable 3) Monostable 4) None of the above

109) EH$ XOR JoQ> XmoZ BZnwQ²g ............ AgVmV VoìhmM AmCQ>nwQ> 1 V`ma H$aVmo.
1) Cƒ 2) {ZåZ 3) {^Þ 4) g‘mZ

109) An XOR gate produces output “1” only when two inputs are .............

1) High 2) Low 3) Different 4) Equal

110) {H«$ñQ>b Am°{gboQ>a ho Q>çyZ Ho$boë`m LC Am°{gboQ>anojm loð> AmhoV H$maU ‘w»`V… .............
1) Cƒ XOm©Mr dma§dmaVm pñWaVm 2) {H«$ñQ>bMm AmH$ma
3) Q Mo Cƒ ‘yë` 4) gd© (1), (2) Am{U (3) d¡Y AmhoV

110) Crystal oscillators are superior to tuned LC oscillators mainly because .............

1) High degree of frequency stability 2) Size of crystal

3) High value of Q 4) All (1), (2) and (3) are valid

111) EH$ AmXe© op amp hm AmXe© ............ Xe©dVmo.
1) ìhmoëQ>oO {Z §̀{ÌV dV©‘mZ òmoV 2) ìhmoëQ>oO {Z §̀{ÌV ìhmoëQ>oO òmoV
3) dV©‘mZ {Z §̀{ÌV dV©‘mZ òmoV 4) dV©‘mZ {Z §̀{ÌV ìhmoëQ>oO òmoV

111) An ideal op amp represents the ideal .............

1) Voltage controlled current source 2) Voltage controlled voltage source

3) Current controlled current source 4) Current controlled voltage source

112) DC ZoQ>dH©$‘Ü ò AmXe© {dÚwV² ómoVmMm A§VJ©V à{VH$ma ............ AgVmo.
1) eyÝ` Amo‘ 2) eyÝ` Amo‘ ‘m{bHo$V OmoS>bobo
3) AZ§V Amo‘ 4) AZ§V Amo‘ g‘m§Va OmoS>bobo AmhoV

112) In DC network ideal current source has internal resistance of .............

1) Zero ohm 2) Zero ohm connected in series

3) Infinite ohm 4) Infinite ohm connected in parallel

113) AmXe© Q´mÝg’$m°‘©a‘Ü ò ............ Mr d¡{eï²> ò AmhoV.
1) H$‘r nmaJå`Vm, Mw§~H$s` JiVr Zmhr, à{VH$ma Zmhr, ZwH$gmZ Zmhr
2) H$‘r nmaJå`Vm, Mw§~H$s` JiVr, à{VH$ma Zmhr, ZwH$gmZ Zmhr
3) Cƒ nmaJå`Vm, Mw§~H$s` JiVr Zmhr, à{VH$ma Zmhr, ZwH$gmZ Zmhr
4) Cƒ nmaJå`Vm, Mw§~H$s` JiVr Zmhr, ZwH$gmZmgh bjUr` à{VH$ma

113) Ideal transformer have the features of .............

1) Low permeability, no magnetic leakage, no resistance, no losses

2) Low permetability, magnetic leakage, no resistance, no losses

3) HIgh permeability, no magnetic leakage, no resistance, no losses

4) High permeability, no magnetic leakage, considerable resistance with lossess
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114) Oa AëQ>aZoQ>aÀ`m àmB‘ ‘yìhaMo BZnwQ> pñWa R>odbo na§Vw CÎmoOZm ~Xbbr, Va .............
1) AmCQ>nwQ>Mm à{V{H«$`merb KQ>H$ ~Xbbm Amho
2) AmCQ>nwQ>Mm g{H«$` KQ>H$ ~Xbbm Amho
3) bmoS>Mm nm°da ’°ŠQ>a pñWa amhVmo
4) XmoÝhr, g{H«$` Am{U à{V{H«$`merb eº$s KQ>H$ ~Xbbo

114) If the input to the prime mover of an alternator is kept constant but excitation is changed, then

the.........

1) reactive component of the output is changed

2) active component of the output is changed

3) power factor of the load remains constant

4) both, active and reactive power components changed

115) {S>{OQ>b ñdmjar Á`m ì`º$sÛmao {MH$Q>dÊ`mMm hoVy Amho Ë`m ì`º$sMr Amho H$s Zmhr ho VnmgÊ`mgmR>r, Ý`m`mb` {ZX}e
XoD$ eH$Vo:
a) Vr ì`º$s {S>{OQ>b ñdmjar à‘mUnÌ V`ma H$aob
b) {S>{OQ>b ñdmjar à‘mUnÌmV gyMr~Õ Ho$bobr gmd©O{ZH$ H$s bmJy H$aÊ`mgmR>r Am{U Ë`m ì`º$sZo {MH$Q>dboë`m

{S>{OQ>b ñdmjarMr nS>VmiUr H$aÊ`mgmR>r BVa H$moUVrhr ì`º$s.
n¶m©¶r CÎmao :
1) (a) ~amo~a (b)~amo~a Zmhr 2) (a) ~amo~a Zmhr (b) ~amo~a
3) (a) Am{U (b)  XmoÝhr ~amo~a 4) (a)  Am{U (b) XmoÝhr ~amo~a ZmhrV

115) In order to ascertain whether a digital signature is that of the person by whom it has purpose to be

affixed, the court may direct :

a) that person to produce the digital signature certificate

b) any other person to apply the public key listed in the digital signature certificate and verify the

digital signature purposed to have been affixed by that person.

Answer options :

1) (a) correct (b) not correct 2)  (a) not correct (b) correct

3)  (a) and (b) both correct 4)  (a) and (b) both not correct

116) Imbrbn¡H$s H$moUVr àUmbr àXmZ H$aVo Or SCAD ’$sëS>‘Yrb S>oQ>m EH${ÌV H$aVo Am{U gmXa H$aVo Am{U
Am°naoQ>aZm g‘OyZ KoÊ`mg Am{U Amdûm`H$ Agë`mg, SCADA {Z §̀{ÌV à{H«$ òMr pñWVr gwYmaÊ`mg gj‘ H$aVo?
1) H$å ẁ{ZHo$eZ BÝ’«$mñQ´ŠMa 2) HMI  gm°âQ>doAa
3)  SCADA n ©̀dojr g§JUH$ 4) [a‘moQ> Q>{‘©Zb ẁ{ZQ²g

116) Which of the following provides a system that consolidates and presents the data from SCADA

field and enables operators to understand and, if needed, modify the status of SCADA-controlled

process ?

1) Communication infrastructure 2) HMI software

3) SCADA supervisory computers 4) Remote terminal units
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117) àUmbrMo Am°Q>mo‘°{Q>Z H$aÊ`mgmR>r Imbrbn¡H$s H$moUVo [abo Am{U ZoQ>dH©$‘Yrb BVa CnH$aUm§‘Yrb g§dmX eŠ`
H$aVo?
1) `m§{ÌH$ [abo 2) g§»`mË‘H$ [abo
3) gm°{bS>-ñQ>oQ> [abo 4) AmoìhaH$a§Q> [abo

117) Which of the following makes the commuication between relays and other equipment in a network

possible, for doing automatin of the system ?

1) Mechanical relay 2) Numerical relay

3) Solid-state relay 4) Overcurrent relay

118) Imbrbn¡H$s H$moUVo ‘Q>o[a`b [aboÀ`m ‘mJrb ~mOyg XmIdbo Amho?
1) g§»`mË‘H$ H$sn°S> 2) EbB©S>r argoQ> ~Q>U
3) {Z §̀ÌU ~Q>U 4) ~m`Zar AmCQ>nwQ>gmR>r Q>r~r

118) Which of the following is shown at the back side of a materical relay ?

1) Numerical keypad 2) LED reset button

3) Control button 4) TB for binary outputs

119) g§X ©̂ ~ggmR>r Imbrbn¡H$s H$moUVm AkmV n[a‘mUm§Mm g§M dmnabm OmVmo?
1)  P Am{U  V  2) P Am{U Q 3) Q Am{U δ 4)  V  > Am{U δ

119) Which of the following is a set of unknown quantities used for a reference bus ?

1) P and  V  2) P and Q 3) Q and δ 4)  V  and δ

CÎmao … (2) {dÚwVemó, Mw§~H$Ëd

1-4 2-4 3-1 4-1 5-4 6-2 7-4 8-2 9-2 10-2
11-4 12-2 13-2 14-1 15-2 16-4 17-4 18-3 19-3 20-3
21-2 22-1 23-4 24-4 25-1 26-2 27-1 28-2 29-1 30-3
31-4 32-3 33-3 34-2 35-2 36-4 37-3 38-2 39-1 40-1
41-2 42-2 43-2 44-4 45-3 46-3 47-1 48-4 49-4 50-1
51-4 52-4 53-3 54-2 55-3 56-4 57-3 58-1 59-4 60-2
61-3 62-3 63-3 64-1 65-2 66-4 67-3 68-2 69-2 70-3
71-3 72-3 73-2 74-1 75-2 76-1 77-1 78-3 79-3 80-3
81-1 82-4 83-1 84-2 85-2 86-1 87-2 88-4 89-4 90-4
91-2 92-1 93-1 94-3 95-2 96-2 97-1 98-1 99-4 100-2
101-4 102-1 103-3 104-3 105-1 106-1 107-1 108-3 109-3 110-1

111-2 112-4 113-3 114-1 115-3 116-2 117-2 118-4 119-2


